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Name: Datum: Ergebnis:
8248, 1 % 0.1 = 9835,9 x 0.0001 =
9989,4 x 0.1 = 6307,4 x 0.01 =
8852,1x0.1 = 9049 x 0.1 =
9266 x 0.01 = 3641,5 x0.001 =
7496 x 0.1 = 3324,5x0.01 =
8954, 8 x 0.0001 = 6765, 8 x 0.0001 =
2551,2 % 0.0001 = 8524, 1 x 0.0001 =
7667,6 % 0.001 = 8342, 6 % 0.0001 =
1036, 5 x 0.001 = 5374,7 x 0.0001 =
5107,4 x 0.0001 = 6608 x 0.001 =
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Multipliziere Dezimalzahlen mit negativen

Zehnerpotenzen

Name:

8248, 1 x 0.1 = 824.81

9989, 4 x 0.1 = 998.94

8852, 1 x 0.1 =885.21

9266 x 0.01 = 92.66

7496 x 0.1 = 749.6

8954, 8 x 0.0001 = 0.89548

2551,2 x0.0001 = 0.25512

7667,6 % 0.001 = 7.6676

1036, 5 x 0.001 = 1.0365

5107,4 x0.0001 = 0.51074

Datum:

9835,9 x 0.0001 = 0.98359

6307,4 x 0.01 = 63.074

9049 x 0.1 = 904.9

3641,5 x0.001 =3.6415

3324,5 % 0.01 = 33.245

6765, 8 x 0.0001 = 0.67658

8524,1 x0.0001 = 0.85241

8342,6 % 0.0001 = 0.83426

5374,7 x 0.0001 = 0.53747

6608 x 0.001 = 6.608
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